'y

Copyrighl FCI,

REFERENCE SPECIFICATIONS

-NFC 93425 (in compliance with HE 501)

PHYSICAL CHARACTERISTICS

- INSULATOR MATERIAL:

-CONTACT MATERIAL:

-ACCESSORIES:

-SHELLS:

THERMOPLASTIC UL94V0

PHOSPHOR BRONZE,
GOLD OVER NICKEL

STEEL FOR METAL BRACKETS,

cadmium plated yellow passivation

THERMOPLASTIC UL94V0 FOR PLASTIC BRACKETS

BRASS FOR OTHERS ACCESSORIES,

cadmium plated yellow passivation

STEEL,cadmium plated yellow passivation

ELECTRICAL CHARACTERISTICS

-NOMINAL CURRENT:

-CONTACT RESISTANCE:

-CONTACT/CONTACT :
-CONTACT/GROUND :

- INSULATION RESISTANCE:

T.5A
<z1.3 m Qhms

>21000 V
>21200 V
>25000 MOhms

ENVIRONMENTAL CHARACTERISTICS

- CLIMATIC CATEGORY:

55/125/56
TEMPERATURE RANGE
DAMP HEAT STEADY STATE 56 DAYS
SALT SPRAY 48 HOURS

-55°C TO +125°C

MECHANICAL CHARACTERISTICS

RETENTION AGAINST TORQUE:

-Threaded insert:0.7 N.m min

-Female screw:0.5 N.m min

I ‘ I 5 I 6 I 1 I 8
sertes DBIV|L25SSOOIV|
A
Shell size: EABC D
(see sheet 3)
Front accessory definition
(see sheet 2)
Blank :without accessory 8
L cthreaded insert M3
0 cthreaded insert UNC 4-40
v cfemale screw UNC 4-40
Layout of contacts (see sheet 3) —-—J —
9,15,25,37,50
Contacts
S :Socket
Termination type ¢
5 Right angle/Europe standard
Plating
00 Right angle 500 matings/unmatings —
43 Right angle 500 matings/unmatings
for harsh environment
PCB accessories definition(see sheet 2)
Blank Plastic brackets °
c ‘Without brackets
M ‘Metal brackets
E
@_ (XIS @@@@@@ @ —
Lkl elerlelere
25 WAY  for ExompIe Surface Tolerance std Jprojection mm
ci t. 150 1302 150 406 1SO 1101
e reteonnect com TOLERANCES UNLESS OTHERWISE SPECIFIED @EI T —
Or M PESSON ] 2006711714 v BN T03 |size Scale
’;_'%%ﬁ Eng [P LEGARE | 2006/11/14 NG‘UL” LINEAR [ oxx | 0.1 A2 201 F
“Fehe | P LEGARE 2006/11/14 o [£2° 0. XXX +0.05 ECN LS08-0014
S o oo [P LEGARE | 2006/ 11714 Product family LSpec ref
© ° Rev
'g = SUB FEMALE DM HES01 series|® () g637.1735
[~ with right angle contact S — B
catalog no - CUSTOMER fsheet 1 of 9

I ‘ I 5 I 6 I J I

8

PDM: Rev:B staTusReleased

Printed: Apr 21, 2009



I | 2 | 3 | [ | 5 | 6 | 1 | 8
;i :
§ %
% % %
[ E— (S — (S — \
L L 3|
\ i\\ ‘
T == — : AI ',
| | | | |
I I I I 4‘7
2310 £0.1 . @310 £0] |

: L insert M3 ) L insert M3

Without Blank
FRONT ACCESSORY Blank Withou O insert UNC 440 V Female screw UNC 4.40 Without O insert UNC 440 V Female screw UNC 4.40
PCB ACCESSORIES C  Without C Without C Without M Metal bracket M Metal bracket M Metal bracket

+0.05

#3.20 0

+0.05

?3.20 0

B30 £0.1

f——

+0.05

?3.20 0

%

6.20 £0.1

i

ez
S

FRONT ACCESSORY

Blank Without

L insert M3
O insert UNC 4.40

V Female screw UNC 4.40

PCB ACCESSORIES

Blank Plastic brocket

Blank Plostic bracket

Blank Plostic bracket

s
-
=.. surface - tolerance std fprojection mm
S www. fciconnect.com 150 1302 150 406 IS0 1101 @’E
5 TOLERANCES UNLESS OTHERWISE SPECIF IED —
[~ Dr |M PESSON 2006/11/14 NGULAR 0.X +0.3 size Scale
Eng [P LEGARE 2006/11/14 LINEAR [ o.xx £0.1 A2 2:1
Chr | P LEGARE 2006/11/14 o Ii?' 0.XXX +0.05 ECN LS08-0014
Appr | P_LEGARE 2006711 /14 JProduct family -] Spec ref
© 2 Rev
= SUB FEMALE DM HES0I series|c
SCALFE: 4 B = C0I-8637-1736 B
with right angle contact o —
— catalog no - CUSTOMER fsheet 2 of 9
! I 2 I 3 I ] I 5 I 6 I I 8

PDM: Rev:B

staTusReleased

Printed: Apr 21,

2009




Copyrighl FCI.

A
FRONT PCB ; FRONT PCB —
shell size  Contact number
PART  NUMBER ACCESSORY ACCESSORY ¥ XX PART ~ NUMBER ACCESSORY ACCESSORY
D*¥Mxx$500C without without DxMxxS543C without without
D*MLxxS500C insert M3 without E 09 D*MLxx$543C insert M3 without
D*MOx xS$500C insert UNC 4.40 without A ) D*MOxx$543C insert UNC 4.40 without B
D*MVxxS§500C female screw UNC 4.40 without i 25 D*MVxxS§543C female screw UNC 4.40 without
D*MxxS500M without Metal bracket C 37 DxMxxS543M without Metal bracket
D*MLxxS500M insert M3 Metal bracket D*MLxxS543M insert M3 Metal bracket
D*MOxxS500M insert UNC 4.40 Metal bracket 0 50 D*MOxxS543M insert UNC 4.40 Metal bracket
D*MVxxS500M female screw UNC 4.40 Metal bracket D*MVxxS543M female screw UNC 4.40 Metal bracket
D*MxxS500 without Plastic bracket D*MxxS543 without Plastic bracket
D*MLxxS500 insert M3 Plastic bracket D*MLxxS543 insert M3 Plastic bracket c
D*MOxxS500 insert UNC 4.40 Plastic bracket D*xMOxxS543 insert UNC 4.40 Plastic bracket
D*MVxxS500 female screw UNC 4.40 Plastic bracket DxMVxxS543 female screw UNC 4.40 Plastic bracket
CROSS REFERENCES HES0! and FCI 0
, FRONT PCB
HESO1 P/N FCI7P/N ACCESSORY ACCESSORY
HESO0IPxxVS6 DxMxxS500 without Plastic bracket
HE50 IMxxVS6 D*MxxS500M without Metal bravket
E
surface - tolerance std fprojection mm
www. fciconnect.com 150 1302 150 406 IS0 1101
TOLERANCES UNLESS OTHERWISE SPECIT IED @E} —
Dr |M PESSON 2006/11/14 NGULAR 0.x +0.3 size Scale
Eng | P LEGARE 2006/11/14 LINEAR | o.xx 0.1 A2 2:1 F
Chr | P LEGARE 2006/11/14 a'\iz' 0.XXX +0.05 ECN LS08-0014
Appr | P_LEGARE 2006711 /14 JProduct family -§Spec ref
2 SUB FEMALE DM HESOI series|® .0\ ge37-173 Rev
= with right angle contact S — B
catalog no - CUSTOMER fsheet 3 0f 9

i NS O S S [ S I S S S [

PDM: Rev:B statusReleased  Printed: Apr 21, 2009



I | 2 | 3 | [ | 5 | 6 | 1 | 8
DIMENSION FOR SHELL E,A,B,C WITHOUT BRACKET
A ?0.63 40.03 go A
- Dimensions are in millimeters
= +0.76 +0.25 +0.57 +0.25 0.51
= SshiezIeI N(uom”b:ar”osf A B Coxo2 [F o G H Io
7 Fl 09 [30.43 |16.21 [24.99 |10.64 | 6.05 | 19.02 B
A |5 38,76 |24.54 |33.32 10.64 6.05 21.25
8 B 25 52.65 |38.25 |47.04 10.64 6.05 41 .02 8
C 37 68.94 |54.71 |63.50 10.64 6.05 57.45
H
= (I N (NP [
|2 s babehigis - C
_ : I ] ﬁ
7ﬁﬁf I Ifﬁ =
T | I o]
f f I I I - -
: H
) = - )
) = 5 00 405 N LAYOUT DIMENSIONS
B0.9 mini
2o ( PR ETYSER T .38 shell 25-37
= - oo B = 2. 14 shell 09-15 1.37 shell 09-15 B
8 - -
T 216 shell 25-31 - ‘
~ | o I I o%ooooIoooooo
A 274 shell 09-15 - |
- 0O 000 0O 00 0O0O0oO0 €
E 4 N ?
i |
& Q@@@@@@@@@@@@@\/ -y L
: &@@@@@@;@@@(@@@J + '
= | J B
S www. fciconnect.com 150 1302 150 406 SO 1101
g Dr |M PESSON 2006/11/14 IOLEMES — OIHE(IWXISE W[i;.ISED s?g m
F | 38 shell 25-37 Ens [ P LEGARE 2006711714 | "M Linear [ oo | w0 A2 2.1 F
Chr | P LEGARE 2006/11/14 o Ii?' 0.XXX +0.05 ECN LS08-0014
.37 shell 09-15 Appr| P LEGARE 2006/11/14 JProduct fa_mIIv -fSpec ref
SCALE:3 = SUB FEMALE DM HESOI seriesl® (o gca 736 |
- with right angle contact S — B
— catalog no CUSTOMER fsheet 4 of 9

‘ I 5 I 6 I I

8

PDM: Rev:B

staTusReleased

Printed: Apr 21, 2009



I | 3 [ | 5 | 6 | 1 | 8
DIMENSION FOR SHELL E,A,B,C WITH METAL BRACKET
20,63 40.0 = A
ﬁ Dimensions are in millimeters
= Shell [Number of | p 1918 B 0.2 C xoz | T e Gfé’-” H fg-f”
size contacts
E 09 30.43 [16.21 |24.99 10.64 6.05 19.02
A [ 5 38.76 |24.54 |33.32 10.64 6.05 21.25
) 25 52.65 |38.25 |47.04 | 10.64 6.05 41.02 8
C 37 68.94 [54.71 [63.50 10.64 6.05 ST.45
1.2 £0. F —
oo ‘ ki?ii
s =@ HHH : == .
: o LA | & AL | -
B [ 1 ) £ ,Z e
1 = ‘ ‘ o~ -
7 U | J LU | 7
- << = .
- LAYOUT DIMENSIONS
= 4.00 £0.5
B0.9 mini
2o ( PR ETYSER T .38 shell 25-37
o g B = 274 shell 09-15 .37 shell 09-15 B
sol A N
~ ~ ZToshe 125 4]] (1% o\)oooo‘oooooo @
- 274 shell 09-15] N ooooooc‘ﬁoooooo ) £
L I
|
@@@@@@@@@@@@@\/ o Ly
&@@@@@@@@@@)@@/ &2 '
:; — T T T TTTTTTTT Y ; B
; R AT —— T
-. AL ok i .\SS“Dr\;:):e k \:O fﬂrﬁanc\:ﬂs\\lﬂ e mm
% " fc feonnec + eon TOLEMES UNLESS OTHERWISE SPECIFIED @5 W —
T e ceeantToooe i P Lean o T | A2] S
Chr | P LEGARE 2006/11/14 a'\iz' 0.XXX +0.05 ECN LS08-0014
.37 shell 09-15 Appr| P LEGARE 2006/11/14 JProduct fa_m\\v -fSpec ref
SCALE:3 'gg SUB FEMALE DM HESOI series|® o\ ge37.1736 |-
[~ with right angle contact S — B
— catalog no - CUSTOMER fsheet 5 0f 9
! I I 3 I : I I 6 I I 8
PDM: Rev:B statusReleased  Printed: Apr 21, 2009




! | 2 | 3 | | 5 | 6 | 1 | 8
@063 4005 = DIMENSIONS FOR SHELL E,A,B,C WITH PLASTIC BRACKET
A ﬂmﬂmﬂﬂﬂmﬂmﬂfm}rﬂﬂmmﬂﬂﬂﬂﬂmﬂ i Dimensions are in millimeters A
Bz nnnnnna sy sy na sy - sver Jumwer or [y 078 [g 0o [y [f 09 [ gons]y o
s
. ’ ] I E | 09 [30.43 |16.21 [24.99 |10.64 | 6.05 | 19.02 -
M i Al 15 [38.76 [24.54 (33.32 |10.64 | 6.05 |27.25
6 B 25 52.65 [38.25 [47.04 | 10.64 6.05 41.02 6
C 37 68.94 |54.71 |63.50 [10.64 6.05 ST1.45
H
. 1.2 +0.1 ~ -
i
~ =
C = A c
2 0
- i w
N T,
i \ S
0 - T LAYOUT DIMENSIONS 0
- tRUE LI 0.9 min
¢ 276 shell 25-37 L.38 shell 25-37
7 B = 774 shell 09-15 .37 shell 09-15 —
< =1 N
7 S —— l o\)oooo‘oooooo
= 274 shell 09-15 {% 66000000000 0do @)—
E — T I N ? E
g |
= - Q@@@@@@@@@@@@@\/ o L
= &@@@@@@;@@@@)@@/ & -
1 =T i
: T T —— \ ] e T
% " fc feennee + eor ‘:ZLE‘E ES UNLESS OT‘::W‘\OSEE W‘::F‘\‘EQD‘ @5 —
F |38 shell 25-31 EDn’g :Egi(ﬁ)g ;ggzmjlj NGULARE | e aw uo.xxx iZ? o A2 ch:‘e F
Chr | P LEGARE 2006/11/14 a'\iz' 0.XXX +0.05 ECN LS08-0014
1.37 shell 09-15 Appr| P LEGARE 2006/11/14 JProduct Fo_m\\y -Spec ref
SCALE:3 'g; SUB FEMALE DM HESOI series|® o\ ge37.1736 |-
- with right angle contact S — B
— catalog no - CUSTOMER fsheet 6 of 9
i | 2 | 3 | [ | 5 | 6 | | 8
PDM: Rev:B statusReleased  Printed: Apr 21, 2009



! I 2 I 3 I ! I 5 I 6 I ] I 8
. 0.63 40.05 DIMENSTONS FOR SHELL SIZE D WITHOUT BRACKET (50 CONTACTS)
A
AARRARAAAARARAARARARARARAARRARARA
[ mlmlml T T L T T L Iml ] LAYOUT DIMENSIONS
I AR AU 38
T Ugliglyllyl lyllgle!lwlyligly!lnlylinlyligls!glyligly!elslglyliyl 71 = = B0.9 mini 2 76 .
AR 1 HE em =
@ BB BB bl @?o I co%ooooogoobdoodo B
$ $ L :’ O O OO O O O O0O!'o 0o OO0 OO0 O @,
N | / = } O O O O O O O O O O O O O O O O
—1 1
£0.10 8
23.1
J = I? L _ c
= c+>G | | | _ ﬁ
- AL i =
T | =1 < P ) —
| I | - g 5
= .
1,11 " = = s =
52 30 0+o.25 B
= - N.J E
4 ﬂ@@\
? = (B ”@@ﬁ%@%
= ‘ ’“@@@)
L — T
;. v fefcomnect com ‘:ZLE‘E ES UNLESS OT‘NSE(:W‘IOSEE SP‘E?IV‘I‘EQD‘ @5 —
© Dr | M _PESSON 2006/ 11/ 14 0.x 303 |size Scale
Eng [P LEGARE 2006711714 [P A Linear [on 0.1 A2 2:1 F
‘38 276 Chr | P LEGARE 2006/11/14 a'Itz' 0. XXX +0.05 ECN LS08-0014
- . : Appr| P LEGARE 2006711714 JProduct family I Spec ref
SCALE:3 2 SUB FEMALE DM HES01 series|® () ge37-173 |
' @ - with right angle contact S — B
catalog no - CUSTOMER fsheet 7 07 9
! I 2 I 3 I ! I 5 I 6 I I 8

PDM: Rev:B

staTusReleased

Printed: Apr 21, 2009



I | 2 | 3 | [ | 5 | 6 | 1 | 8
0,63 4005 DIMENSIONS FOR SHELL SIZE D WITH METAL BRACKET (50 CONTACTS)
A A
T
e e i el et S — E 3 00,90 77 8
B Hwi\}‘iH‘iw‘\}‘i\}‘iH‘iH‘i _ o 0T N
@ \@\@‘@\@‘@\é‘@\@ @\$‘@\@‘@\£;‘@\@‘ @ i’;o : O O\O O O O O O ? O O 6 6 O O O|O
bdddddddedddddddd i Q © 000000000000 0O0O0 {D
\\ = O O O O O O O O O O O O O O O O i
[ [ |
8 w051 £0.10 8
55.07 23
66.55 "
7 6.00i0‘ B
. |
C ——H = «
) ST i T il ;
2 = o MMMEMENENEEEENEMENEVENENE &) Al 3 2
™ L\ h = |
) I— ] f\ ,/ i
\
i) :
0 e 0
61 || b g = E las =
52.30 = = 2
- ~ = 8.6 +0 -
el . “'J ;
5 ﬂ@@‘
? = (@) | ‘eeveocesesosese— (D
o CleleleleleleleClelelelelelelelcy
Ty Luvauammony : _
i e on e @) |
' N e e e
I 2.16 Appr | P LEGARE | 2006/ 11714 Prc‘:ducf Tani 1y Ispec el
SCALE:3 'g; SUB FEMALE DM HES501 series|® () ge37-1736 |
' :thr\qM angle contact S — B
cotalog no - CUSTOMER Jsheet 8 of 9
3 | ! | | 6 | | 8

PDM: Rev:B

staTusReleased

Printed: Apr 21, 2009



I | 2 | 3 | [ | 5 | 6 | 1 | 8
D 6s L00s DIMENSIONS FOR SHELL SIZE D WITH PLASTIC BRACKET (50 CONTACTS)
A A
LAYOUT DIMENSIONS
.38
E > 20.9 mini 2.76
7] ‘ Oo\oooooo?ooééoooo B
}‘ 0O 0000000000 O0O0O0O0O0 {Df
0O 00 O0O0O0O0O0 0O 0O0O0O0O0OOO
8 £0.10 8
3. |
- 66.55 17 " -
4 1 [
5 N I I I I I I I I I I I I I I I I I -
e MR i i °
= I ! ‘\\\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘ ! = 3
f { | o~ _—
| | | : 118
] v - N < _ ii: 0
L = 4 £09 2 =
52.30 0%
_ . 8.6 0.l -
€ = / ‘ N.J E
3 HCIClCIOICICICIGICICIGICICIGICIOIC)
2‘}- - (@) | ‘eeveoceskesosese— (D —
= "@@@”
g = — |J
: U Ruabuuomom AR, R
‘; www. fciconnect.com 150 1302 150 406 IS0 1101 @5 mm
Tr L LR T B e o B I [
‘ 38 2 76 Chr | P LEGARE 2006/11/14 o \iz' 0. XXX +0.05 ECN LS08-0014
RS : appr | P LEGARE | 2006/ 11714 |Product fomily Aspcc et
SCALE:3 @ = SUB FEMALE DM HES501 series|® CO1-8637- 1736 Rev
' = with right angle contact S — B
— catalog no - CUSTOMER fsheet 9 of 9
T | 2 | 3 | ! | 5 | 6 | | 8
PDM: Rev:B statusReleased  Printed: Apr 21, 2009




